a* —ab 2) 3a2—|-3ab‘

1) ab—b*’ 6ab + 6b>’
6a> — 9ab 15a® — 10ab
3 : 4 —
) 8a’bh — 12ab? ) 3ab —2b-
5) 24a*b — 36ab> ) 6) 12a%b + 4ab®
18a2 — 12ab 24a3b? + 8a’h’’

a*—ab ala—b) a
ab—b>  bla—b) b
3a*+3ab 3ala+b) a
6ab+6b>  6b(a+b) 2b’
3) 6a> — 9ab _ 3a(2a—-3b) _ 3
8a’b—12ab>  4ab(2a—3b) 4b°
%) 15a> — 10ab _ S5a(3a—2b) _5a
3ab —2b? b(3a—2b) b’
24a’*b—36ab®>  12ab(2a—3b)  2b(2a—3b)
184> —12ab ~ 6a(3a—2b)  3a—2b '’
12a°b+4ab>  4ab(3a+b) |
24a3b% +8a’h®  8a’b*(3a+b)  2ab’

1)

2)

5)

6)



2a’b—2ab” a’+a’b

D b —aa’ SRR
3) a*b? —2a3b3_ %) 3{135—3&2&2_
2a3b* + a*b3’ 3ab® — 3a%b?’
3. 2 2;2.2 3
5) 2a’b —2ab” 6) 2a b c” — ac

4a’b —4a*’ bc? —2ab3c

2a°b—2ab>  2ab(a—b) 1

4a’b—4ab®  dabla—b) 2’

a’+a*b a*(a+b) a*

ab> + 6> bat+b) b

a'b* —2a’b®  a’b*(a—2b) ala—2b)

2a3b2 +a’b®  a’b*(2a+b)  2a+b

%) 3a’h — 3a*b? _ 3a’b(a —b) _ 3a’b(a —b) _a
3ab’ —3a’h? 3&.6395 —a) —3ab3(a —b) b

5) 2a°b—2ab*  2ab(a® - b) 2ab( b) b

4a’b — da* 4a2(‘b —4a b‘) 2a’

2a°b*c? —ac® (2&52 c) 2ab' c) ac

o) bc2 —2ab’c  be(c—2ab?) - —bn:(?,abz—c) T

1)

2)

3)

2a—2 a+3 3a® 2 b da
1 - - : - -
) 2a=6 3a-9 D 6atd a6 Y 2a> —ab  2ab—b*’
5) a—25 N 3a+5 6) 1 —6a 8

5a—25  a*—5a’ 4H2—6a+6a—9'

4)

4b

9a

3a2 +2ab

3ab+ 202"



2a—2 a+3 2a—1) a+3  a-—1 a+3  3a-3-a-3 2a-6  2a-3)

1 — = - = - = =
) 2a—6 3a—9 2a-3) 3(a—3) a—3 3(a—3) 3(a—3) 3(a—3) 3(a—3)
2, 2) 3a’ 2 3a® B 2 _ 9a’—4  (3a—2)(3a+2)
3’ 6a+4 9a+6 2(3a+2) 3(3a+2) 6(3a+2)  6(3a+2)
3a—2 b 4a b da b* —4a?
. 3) - — = — = =
6 2a> —ab  2ab—b*> a(2a—b) b(2a—b) ab(2a—Db)
(b—2a)(b+2a) —(2a—b)(b+2a)  2a+b 4) 4b O9a 4b Oa B
ab(2a—b) ab(2a—b)  ab ’ 3a2+2ab 3ab+2b?>  a(3a+2b) b(3a+2b)
4h2 — 942 ~ (2b—3a)(2b+3a) 2b—3a 5) a—25 + 3a+5  a-25 n Ja+5
ab(3a+2b)  ab(3a+2b) ab ’ S5a—25 a*—5a 5(a-5) ala-5)
ala—25)+5(3a+5) a*—25a+15a+25 a*—10a+25 (a—5)> a—35 6) 1 —6a " 8
S5a(a—5) - S5a(a—5 ~ Sala—5)  Sa(a-5) Sa’ 4a> —6a  6a—9
1 —6a 8 3—18a+ 16a 3—-2a 2a—3 1

2a(2a—3) ' 3(2a—3) 6a(2a—3)  6a(2a—3)  6a(2a—3)  6a

I a—1 4—a 2
D sa—a 324 B i
2) 2 - ﬂ+]‘ . ﬂ—l zﬂ—3 i
3a—9 2a2—6a’ S AT 3 aa
a— 1 a
3 B ; a+b a—b
) a*—2a a*—4 6) 2b—ab?:  alb+tab?

4 —a 2



| a—1 | a—1 a+2a—2_ 3a—2 | 2 a—+1

D 6a—a 320 203a—2) " aBa—2)  2a(a—2) 2aBa-2) 2a° 2 3a-9 24 —6a
2 a+l =4a—3a—3= a—3 =i_ 3 a—1  a _ a—1 a _
3(a—3) 2a(a—3) 6ala—3) 6ala—3) 6a a?—-2a a*—4 ala-2) (a—2)(a+2)
(a—l)(a+2)—a2=a2—|—2a—a—2—a2= a—2 _ 1 4) 4—a 2 _
ala—2)(a+2) ala—2)(a+2) ala=2)(a+2) ala+2) 2a—4 a*—2a
4—a 2 4a-da’-4 a’—4a+4  (a—2)P  a-2, 5 a1 2a-3
20a—2) ala—2) 2a(a—2) 2a(a —2) 2a(a—2) 2a ° al—4 2a*—4a

(a—1) 2a—3  2a*—2a—(2a-3)(a+2) 24*—2a—2a*—4a+3a+6 = -3a+6
(a—2)(a+2) - 2a(a—2) 2a(a—2)(a+2) B 2a(a—2)(a+2) - 2a(a—2}(a+22 -
—3(-2) 3 6 atb  a-b _ atb  a-b :(a+b)1-(a—b) _
2a(a—2)(a+2) 2a(a+2)’ a*b—ab®> a’*b+ab*> abla—b) abla+b) abla—b)(a+b)
a’+2ab+b* —a’>+2ab—b> 4ab 4

ab(a—b)(a+b) ~ab(a—b)(a+b) a?—b2’
1 (5—&)2' b—6a 4 a—1 4&'—2&{ 7) a® —4a :a4+8a_

6ab—b2 54 —25a° ) Sa 28 1-a d—data® -8

(0—2)2 2a— 10 (2}:—3)2 0 _ 42 8 1—4‘1'2_(2):—1)2.
2) 254 4—-a’ 3) © 62 ; )11—41' x2—16 "

a a a 3x+1 6x + 2x
3) a’* —9a _a2—9; 6) (5—.1')2:5.1:—25; 9) (2;"2_2:1_“). 31 ;

al—6a+9 9—a 6xy—y2 y— 6x a-+ab a+b a’ + 1

10) 42 —1  xX244x _8x2+4x
x2—16 (1-2x)2 ) 8x3—1"



| (5-a)* b—6a  (5-a)* b—6a  (5-a) —(6a—b) S5-a _, (a—2)° 2a—10
)6 b— b”'5a2—25a_b(6a—b}'5a(a—5)_b(ﬁa—b)'—ﬁa(ﬁ—a)_ Sab ’ }az—Sa 4—a?
(@=2)* 2(a-5) _ (a=2)*  2(a-5) = 2(a-2) 2(2-a) 3) ?—9a a-9
ala—5) (2—a)2+a) ala—5) —(a—2)(a+2) ala+2) ala+2)’ a’>—6a+9 9—a
a(a—9) (a—3)(a+3) a(a+3) %) a—1 _4a—2a1_ a—1 2a2—a) a—1
(a—3)?2 —(a—9)  3-a’ 8a—2a®> l—a 2a(4—a’) l1—a  2a(2—a)(2+a)
2a(2—a) 1 5) (2x=3)*  9-4 (2x—3)> 6 +2¢ _ (x—3)°  2(3x+1)
—a—lg_ a+2’ 3x4+1 "6x24+2x  3x4+1  9-4x2  3x+1  (3-22)(3+2)
(2x—3)° 2x C 2x(3-2x) 6) (5—x)* 5x-25 _ (5—x)? —(6x—y) _
1 (Zx 3)(3+2x) 2x+3 6xy—y>  y—6x  y(bx—y) —5(5—x)
5-x 7 a*—4a a*+8a a(a’®—4) (a— 2)(a* +2a+4 a[a—Z}[a+2)_ (a—2)(a*+2a+4)
5y 4—_data® -8 (a—2)? a(a®>+8) (a—2)? a(a+2)(a?—2a+4)
a’+2a+4 [—4x (2x—1)>  (1-2)(1+2x) (x—4)(x+4) —(2x—1)(1+2x) (x—4)(x+4) _
—2a+4" VR4 216 x(x—4) (-1  xfx—4)  (x-12
(2x+1)(x+4)
(-2
a’+4 8 2 a+4 a’
b (a 4 )+4_“1! X (E_a—Z)IHJ—S:

2a— 1 Q9 — 442’
5
x-—1

1 2 —4a’ _ _
__a+ ).az : 5) (za_lﬁa 9)_1 2a
o
I P o 3x '
) (22 ). e 6 (1-2—2) 2fL, 7 (1_x+l)+l—4x3'
3a 2a

2a+2 ) a’+5a



a*+4\ 8  da—a*—4 8 —(a—2)* 8 s 2 -
T3 )'4_a2= 7 S v S U g o s (o pri 3 S
2(a—2) 2) (l_ a+2)‘a—4a3=2a+1—a2—2a‘ a(1—4a?) _ | —a? _a{l—Za}(l+2a}=
a+2(1‘ %) a 2a+11 233—1 a(2a+1) (a—1)(a+1) , a(a+1) g:;—]3)(:.::+l}2
—2a —2a a a—3a*
am1 @Dy =2k (532 3) 2a+4 =~ (34"
—3ala—1)  4a*—4-3a> —3ala—1) a"—4 -1 (a—2)(a+2) —1

l —a-

a
2(a2—1)) 2(a+2) _6a(a—1)ga+1)' 2@+2)  2(a+1) 4a+2) (a+1)  4(a+2)
2—a ) 4)(2_a+4) a - a _2a—4—a3—4a a* _—az—Za—-ﬂ-
da+1)’ a a-2) a-8 (a—2)2  a(a-2) (a—2)(a®+2a+4) a—?2
a _ —(a*+2a+4) a B a 5) (2 10a—9y 1-2a
(a—2)(a®+2a+4) (a—2) (a—2)(a®+2a+4)  (a—2)*’ “ Za—]) 9—4a>
4a* —2a—10a+9 | —2a _ 4a®—12a+9 —(2a-1)  (2a-3)*  2a-3

— : | —
2a—1 &3—2&)[3+2a} 2a—1 (3—2a)(3+2a) (2a—3)(3+2a) 2a+3’ ®) (
a—B) a-+ 1 B a+2—a+3 a+1 _a-}-S a+1 B a+ 1 B a+1 _L 7)(]
2a+2/ a*+5a  2a+2 a(a+5) 2a+2 a(a+5) a(2a+2) 2a(a+1) 2a’
3):) -1 Cx+1-3x (x—1)(x+1) x—1 x—1

xi 1) 1—a2 T T xf1 (2420 0 -2 +20) 2+l

9)(2{#—2_1—’& 1
az-l-ab‘a-i-b) a1

. ) :(Z(cr-l-l)(a—l)l a+b )
ala+b) —(a—1)) (a+1)(a*—a+1) ala+b) —(a—1)/ (a+1)(a*—a+1) a

I _ 2. 10 (412_'. 13+4X).8x2—|—4x413—|—2x+1 =((2x—1)(2x—|—1)‘
(a+1)(a>—a+1) a(a*—a+1)’ x2—16 (1-2x)2/ 83 —1 4(x—4) (x—4)(x+4)
x(x+4)y 8 —1  /—(1-2x)(2x+1) x (2x—1)(4x® +2x+1)  —x(2x+1)  (2x—1)(4* +2x+1)
(1-zx)2)'3x2+4.x_( (x—4)(x+4) '(1-zx)2)' 4x(2x+1) T (x—4)(1-2x) 4x(2x+1)
(1—2x)(4x® +2x+1)  4x?42x+1

4(x—4)(1 —2x) A(x—4)

1 _ —2(a+1)

(2(&1—1) a+b




